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QUESTION 1 LESSON 1 -1 PAGE 10 Question 39- 46

Outcome: Identify and evaluate functions and state their domains.

State the domain of each function.

Sx + 12
x2 + 5x + 4

x+1
x2 — 3x — 40

39. f(x) = 40. g(x) =










QUESTION 2 LESSON 1-1 PAGE 9 QUESTION 30 - 37

Outcome: Identify and evaluate functions and state their domains.

Find each function value.

3. h(y) = —-3y>— 6y +9 30. g(x) = 2% + 18x — 14

a. h(4) a. g(9)
b. h(—2y) b. ¢(3x)
c. h(db+3) c. g(1+ 5m)



6. flh) = —dt+ 1l

324+ 5¢t+1

a. f(-6)

b. f(4f)
c. f(3—2a)




12
64. h(x) = 16 5% 3

a. h(-=3)

b. h(6x)
c. h(10 — 2¢)







QUESTION 3 LESSON 1-3 PAGE 30 QUESTION 22 - 29

Outcome: Use limits to describe the end behaviour of functions.

A /
i ’ \)-
Use the graph of each function to describe its end behavior. *.?/
ﬁ Support the conjecture numerically. | les 4 and 5) -
22. N}
) 64t
).
4 32
= "0 N2 46 [x
f(x) = 4x? — 6x3 4 3x /
AN U
-—64
/ Y \



{7

L. ]









26. y

2
f(X)= 8xc—5x+1
— 16x







7=z
—




29.

8

3
f{X)= 12x +4H_5
) 4x* -9




QUESTION 4 LESSON1-3 PAGE 31 QUESTION 33-40

Outcome: Use limits to describe the end behavior of functions.

Use logical reasoning to determine the end behavior or limit
of the function as x approaches infinity. Explain your
reasoning.

24 0.8

33. g()=—"" 34. f(v) =7




-
37. clx) =

r

5x2
v+ 22x+1




39. h(x) =222+ 7x3 + 5
-




QUESTION 5 LESSON3-1 PAGE 166 QUESTION 1-10

Outcome: Evaluate, analyze, and graph exponential functions

Sketch and analyze the graph of each function. Describe its
domain, range, intercepts, asymptotes, end behavior, and
where the function is increasing or decreasing.

1 flx) =27 2. r(x) = 5°

il -~

l\\



.

5. m(x) = —(0.25)*

r




\_

10. dx) =5""+2
-




QUESTION 6 LESSON 3-2 PAGE 178 QUESTION 1 -24

Outcome: Evaluate expressions involving logarithms

Evaluate each expression. ‘ . /

1. log, 8 2. log,, 10



.

5. log;; 121

7







1. log 5275

r




16. 41n (7 —/2)
R

.

17. log 635
-







24. log 1000




1.

3.

QUESTION 7 LESSON 3-3 PAGE 185 QUESTION
Outcome: Apply properties of logarithms

Express each logarithm in terms of In 2 and In 5.

1

In g 2. In 200

In 80 4. In12.5

1-16

il -~

\\\



.

7. In 2000

7




Express each logarithm in terms of In 3 and In 7. (Fxample )
9. In 63 0. Ing;

@ @

G

12. In 147

r




13. In 1323
-

.

16. In 1701

r




QUESTION 8 LESSON 4 - 1 PAGE 229 QUESTION 31 -38

Outcome: Solve right triangles

Find the measure of angle 6. Round to the nearest degree, if
necessary.

3. 32. 33. O

14






QUESTION 9 LESSON 4 -2 PAGE 240 QUESTION 27 - 32

Outcome: Use angle measures to solve real — world problems

Find the length of the intercepted arc with the given central
angle measure in a circle with the given radius. Round to the
nearest tenth.

27. %,r=2_5m 28. =~ r=3cm



.

30. 105°, r=18.2cm

7

31. 45, r=5km

7

.

32. 150°, r =79 mm

7




QUESTION 10 LESSON 4 -3 PAGE 253 QUESTION 1 -8

Outcome: Find values of trigonometric functions for any angle
The given point lies on the terminal side of an angle 6 in

standard position. Find the values of the six trigonometric
functions of 6.

(3, 4) 2. (—6,6)










QUESTION 11 LESSON 4 -3 PAGE 253 QUESTION 17 -24

Outcome: Find values of trigonometric functions for any angle

Sketch each angle. Then find its reference angle.

1. 13% 18. 210°

7T 20, =X
19. B 3






QUESTION 12 LESSON 4 -6 PAGE 290

Outcome: Find compositions of trigonometric functions

Find the exact value of each expression, if it exists.

. . -1 3
29. sin (Slﬂ jz) 30. sin ! (sin g)

12
31. cos (cos 1 ﬁ) 32. cos™ ! (cos T)

QUESTION 29 - 40

........
\ )



. .

35. cos (tan"'1) 36. sin~" (cos 5)

( (




7

.

38. sin(tan 11 —sin"11)
-

39. cos(tan™'1—sin"' 1)

7

.

40. cos (ms-'_l 0+ sin ! %’)

7




QUESTION 13 LESSON PAGE 309 QUESTION 22 - 31

Outcome: Use basic trigonometric identities to simplify and rewrite trigonometric expressions

Simplify each expression.

22. cscxsecx — tanx 23. cscx —cosxcotx

tan x + sin x sec x
csCc x tan x

24. secxcotx —sinx 25.




CSC X COS x + cot x
27.

sec x cot x

28.

sec xcscx —tan x

SeC X CSC X

\_

~

\_

r

\_

29.

SEC2 X

cot?x + 1

30. cotx — ¢sc

2

X cot x

31.

cot x — cos

3

X CSCX

r

~

~




QUESTION 14 LESSON 5-2 PAGE 316 QUESTION 1-10

Outcome: Verify trigonometric identities

Verify each identity.

1. (sec? # — 1) cos® 6 = sin? 6 2. sec? 0(1 — cos? 0) = tan? 0




3. sin 6 — sin # cos? 6 = sin° @

r

\_

4, csc O — cosOBcoth=sin b

r

5. cot?6csc?h— cot? = cot*e

r

\_

6. tan 6 csc? O — tan O = cot 0

r




sect?_sinf)zC _sinf | 1—cosb
sin @ cos 6 * 1—cos# sin 6

r

=2csc @

\_

cos 6 10 sin 6 4 —cos t

9+tan9=sec0 c T—cots T T—tang — Sin 6 + cos 6
-

1 + sin




QUESTION 15 LESSON 5 -3 PAGE 323 QUESTION 1- 18

Outcome: Solve trigonometric equations using algebraic techniques

Solve each equation for all values of x.

1. bsinx+ 2=sinx 2. b=secx+ 3

o0s?x + 1 4. 4tanx—7=3tanx— 6

W
N

=4

™



5. 9+ cot’x=12
a a

\_

y 3 3cscx=2cscx+\/§ 8. 11=3csc’x+7

r




9. 6tan’x—2=14

r

\_

10. 9 + sin®x =10

-

1. 7cotx—\/§=4cotx

r

\_

12. 7cosx=5cosx+ V3

r




X = Pt A = Y4
Find all solutions of each equation on [0, 27]. (Example 3)

13. sin*x+2sin?x—3=0 14. —2 sin x = —sin X cos X

2
gx 15. 4 cot x = cot x sin® x 16. csc?x —cscx+ 9 =11
4

2

17. cos® x + cos?x—cosx =1 18. 2sin‘x=sinx+1

]
1
\

W

A X ) g P L o Y



1 f(x)

QUESTION 16 LESSON 1-3 PAGE 30 QUESTION 1 -10

Outcome: Use limits to determine the continuity of a function

Determine whether each function is continuous at the given
x-value(s). Justify using the continuity test. If discontinuous,
identify the type of discontinuity as infinite, jump, or
removable.

GG
=Vx?—4;atx= -5 2. f(x) =Vx+5;atx=28 k'g\':w



[

" h()___ — 36

TTE ~atx=—6andx =6

.

e

6. g(x) = + X atx=—-2andx=2




e

x—

4

7. h(x) =

x2—5x+4

catx=1andx=4

_ x(x — 6)

x3

¥

catx=0andx =6

0. f) ={

-1 if x=-—6

—x+2 if x>—6

atx

= —6




QUESTION 17 LESSON 1-4 PAGE41 QUESTION 34 -40

Outcome: Determine the average rate of change of a function

Find the average rate of change of each function on the given interval.

34. g(x) = —4x* 4+ 3x — 4;[-1, 3] 35. g(x) = 3x* — 8x + 2; [4, 8] 36. f(x) =3x% —2x2 +6;[2, 6]



37. f(x) = —2x° — 4x? + 2x — 8; [—2, 3] 38. f(x) =3x*—2x2 + 6x — 1;[5, 9]
(~ ~

\_ \_

39. f(x) = —2x* — 5x% + 4x — 6; [—1, 5] 40. h(x) = —x° —5x% + 6x — 9; [3, 6]
[ [




QUESTION 18 LESSON 3 -1 PAGE 166 QUESTION 25 -33

Outcome: Solve problems involving exponential growth and decay

FINANCIAL LITERACY Ahmed acquired an inheritance of 26. FINANCIAL LITERACY Eman invests AED 1200 in a certificate
AED 20,000 at age 8, but he will not have access to it until of deposit (CD). The table shows the interest rates nffered
i I8, by the bank on 3- and 5-year CDs. (Examples 4 and 5)

a. If his inheritance is placed in a savings account earning
4.6% interest compounded monthly, how much will e
Ahmed’s inheritance be worth on his 18th birthday? Years 3

b. How much will Ahmed’s inheritance be worth if Interest 3.45% 4.75%

it is placed in an account earning 4.2% interest Compounded continuously monthly
compounded continuously?

f

B

o\\o

a. How much would her investment be worth with each

A option?

j b. How much would her investment be worth if the
5-year CD was compounded continuously?

N
)
™ A



X = T A 7z Y LY

POPULATION Copy and complete the table to find the
population N of an endangered species after a time f given
its initial population N, and annual rate r or continuous
rate k of increase or decline. (Example 6

n 5 10 | 15 | 20 | 50

2]. N,=15,831,r=—42% 28. N,=23,112,r=0.8%

h

29. N, =17692,k=2.02%  30. Np=9689, k= —3.7%

N

& 31. WATER Worldwide water usage in 1950 was about

294.2 million gallons. If water usage has grown at the
described rate, estimate the amount of water used in 2000
and predict the amount in 2050. (£

1
.-"..;|"':.,.'I' n]

TN A

a. 3% annually b. 3.05% continuously

N

Q X == °_, s



h
¥
)

32. WAGES Yasmin receives a 3.5% raise at the end of each
year from her employer to account for inflation. When
she started working for the company in 1994, she was
earning a salary of AED 31,000. (Example 6)

a. What was Yasmin's salary in 2000 and 2004?

b. If Yasmin continues to receive a raise at the end of
each year, how much money will she earn during her
final year if she plans on retiring in 20247

0\0

N\
\ Y N\

33. PEST CONTROL Consider the termite guarantee made by
Exterm-inc in their ad below.

P R R R

>4 . Termite & Pest Control 4

% ermite & Pest Contro
;02 &\ . m "“gc SINCE 1995 ;::g
3%‘5 tev et 8O EREE TERMITE INSPECTION ;,04
- Ex o N b
# %
;’02 Termite Guarantee: 60% of termite colony Sgi
. eliminated with each treatment. All but 1% : &‘2
;gs eliminated after just 3 treatments! »
K3 ¢
%@ @] FINANCING AVAILABLE ;2
335& ] 555-3267

28
QQ?QXQXQXQX‘X B ER LRI PG X’X‘X’X’X’X’X’:ﬁ%
If the first statement in this claim is true, assess the

validity of the second statement. Explain your
reasoning. (Example 6)

Y

]
£
§



QUESTION 19 LESSON 4 -1 PAGE 229 QUESTION 1-18
Outcome: Find values of trigonometric functions for acute angles of right triangles

Find the exact values of the six trigonometric functions of .

1. 18 2 ‘[3 ﬂ 3. g 4' R
12
4
8\2 214 )
15 \97 35

14






X == T % 4 F

Use the given trigonometric function value of the acute
angle 0 to find the exact values of the five remaining

IS trigonometric function values of 8. (Fxample 2
[y
. 5inﬂ=% 10. cnsﬂ=g
2\
2/ 1. tand = 12. sec =8
) 13. Cﬂﬂﬁ':g 14. tanﬂ=% Q
15. cotd=>5 16. cscd=6 /
7 =7 o ) L
j 17. sec 8 = 5 18. sinfd = 3 \&




QUESTION 20 LESSON 4-4 PAGE 266 QUESTION 14 - 19

Outcome: Graph transformations of the sine and cosine functions

State the amplitude, period, frequency, phase shift, and
vertical shift of each function. Then graph two periods of the

function.

15. y = cos (% + g)

14. y=35in(x—%)



17. y =sin 3x —

\_

19. y=sin x+25) +4
:




QUESTION 21 LESSON 5-2 PAGE 316 QUESTION 1-15

Outcome: Verify trigonometric identities

1. (sec? 8 — 1) cos? § = sin” @ 2. sec? (1 — cos? §) = tan? 0

3. sin @ — sin O cos2 @ = sin° @ 4., csc O — cosBcoth=sinéb



s

5. cot?fcsc @ — cot?f=cot?e

s

6. tan @ csc® O — tan O = cot 0

sec sinfh _ to
sin®  cosf O

7.

cos 6

sin 6
10. 1—cotd 1—tan @

A = sin 6 + cos #




r

§

1 1
1—tan?0 1—cot?e

r

§

4 ; 1

;. _— 2 B i .
cscd+1 + csc—1 2 sec” fsin 0

1 2"-

~

G

13. (csc @ — cot B)(csc 8+ cot B) =1

r

14. cos* 9 — sin* 8 = cos?2 6 — sin2 8

r

11
I—sin8+'1+sint9

15. =2sec? 9
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